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= A BE | = | Bih | EE |10aSxlEmmE ome |
[m/s] [%] [hPa] [mm] 0~98% I~158 | 15~248%
01 3.3 b | i 13.5] #HILFH 19.3 24.6 14.5 64.7 86.8 45,7 68.7 991.2 991.2 0.0 0.0 0.0 & i &
02 1.9 &3l 8.1 &3] 20.7 27.5 14.4 61.5 82.3 42.1 66.5 993.7 993.7 0.0 0.0 0.0 5 i [S8
03 1.7 dkdedg 7.0 FER 18.2 21.1 17.0 88.5 95.7 67.9 73.1 987.4 987.4 3.0 11.0 44,5 [53] 551 £
04 2.7 B | efif) 12,5 dkdbvs 21.4 27.5 16.4 60. 2 95.2 28.7 69.2 989.1 989.1 0.5 0.5 0.5 & s i
05 2,1 7FadLPg 9.7 B ofic] 22.0 29.2 14.2 45,2 75.6 23.4 62.0 996. 6 996. 6 0.0 0.0 0.0 & i &
06 2.6 3] 9.6 7] 22.9 29.8 16.2 51.8 71.0 27.3 58.9| 1000.4) 1000.4 0.0 0.0 0.0 5 i &
07 1.4 HALHE 6.2| FEER 23.5 28.4 19.2 61.4 75.5 42.5 59.7 997.9 997.9 0.0 0.0 0.0 & i i
08 1.5 FER 8.2 3] 22.9 27.8 20.2 66.4 80.4 45.4 61.7 997.6 997.6 0.0 0.0 0.0 £ £ =]
09 1.8 [l 7.3 [E3] 20.8 25.1 18.6 77.9 94.3 53.8 66. 6 999.2 999.2 0.5 1.5 3.6 & 581 551
10 1.3| FEMR 8.5 3] 20.6 23.2 18.4 95. 1 96.0 92.9 75.1 996.9 996.9 4.0 8.5 46.5 [58] 55 £
11 1.4 B it} 9.5 #EdLF 22.1 23.8 19.7 91.4 96.8 77.8 80.0 997.2 997.2 12.5 29.0 65.5 [5] [S3 =]
12 1.2 FadLFg 6.4 Jriz] 22.0 27.2 17.5 67.8 94.6 41.6 76.3] 1001.9] 1001.9 0.0 0.0 0.0 & i &
13 2.2 = 9.9 [£3] 23.4 29.4 17.9 66.4 87.3 46.4 73.3| 1004.2] 1004.2 0.0 0.0 0.0 & fE &
14 1.7 FEMFMR 9.9 FEER 21.5 23.4 20.4 83.5 96.0 66.7 76.3 999.0 999.0 3.6 8.0 38.0 & 581 58]
15 2.1 EAMR 9.1 EAER 24.9 28.4 21.5 84.8 96.7 63.4 78.8 989. 1 989. 1 0.5 1.5 3.0 [55] i i
16 1.2| FFEE 6.7 &3] 26.8 34.5 20.7 72.7 94.1 48.3 77.0 992.0 992.0 1.5 2.5 2.5 s i i
17 1.2 FadLFg 5.4 B ofic] 29.9 35.5 25.9 63.7 81.8 40.6 73.0 995.2 995.2 0.0 0.0 0.0 = £ =]
18 1.4 JkdeFg 6.5 3] 30.2 37.0 23.9 55.1 85.6 21.6 67.6 998. 7 998.7 0.0 0.0 0.0 = £ £
19 1.5 £l 8.1 FEmPE 29.4 36.8 24.2 56.0 80.9 25.7 64.1 1000.9, 1000.9 0.0 0.0 0.0 & i &
20 2.2 3] 8.5 &3] 27.6 32.9 24.5 69.0 84.1 45.2 65.5 1001.8 1001.8 0.0 0.0 0.0 BE i &
21 2.7 &3] 8.7 &3] 27.0 32.9 24.0 66.8 82. 1 44,7 65.9] 1000.0/ 1000.0 0.0 0.0 0.0 BE i &
22 3.4 FEMER 9.5 = 26.9 30.9 23.9 71.7 80.3 59.8 67.6 997.0 997.0 0.0 0.0 0.0 £ £ =]
23 2.7 FAMER 11,1 dkdbvs 25.3 27.6 21.9 86.8 95.4 78.2 73.3 997.2 997.2 13.5 22.5 26.0 [5] 581 58]
24 1.1] 3RAbsE 6.5 FEER 25.0 26.8 23.6 88.2 95.5 79.1 77.8| 1000.3] 1000.3 0.5 1.0 5.0 [58] [53] £
25 1.4 FE4LF 6.1 B 27.1 31.4 23.6 78.7 94.9 61.1 78.0 999.7 999.7 0.0 0.0 0.0 = == =]
26 1.0 FFEE 11,0, FEILFE 25.4 29.5 22.6 85.7 96. 1 63.6 80.3 997.0 997.0 12.0 28.0 33.5 = [53] [58
27 2.2 B | ofrif) 10.8 B ofic] 25.7 31.1 21.5 69.2 95.4 43.7 77.0 994.7 994.7 0.0 0.0 0.0 & fE &
28 2.0 3] 8.1 3] 27.0 34.4 20.4 60.7 85.4 36.3 72.1 994.5 994.5 0.0 0.0 0.0 & i &
29 2.0 [l 8.5 3l 28. 1 33.7 23.2 57.8 74.8 43.3 67.8 997.2 997.2 0.0 0.0 0.0 i i i
30 1.9 &3] 8.8 EEMR 28.8 35.9 23.3 64.4 81.8 43.4 66.8 999.5 999.5 0.0 0.0 0.0 i i &
S| 1.9 [l 24.5 70.4 70.7 996.9 996.9
Ba 7.6 B i 13.5| #E4LPE 37.0 96.8 80.3] 1005.3] 1005.3 13.5 29.0 65.5
fp 06/01 06/01 06/18 06/11 06/26 06/13 06/13 06/23 06/11 06/11
i 14:11 17:02 15:33 03:01 23:59 09:14 09:14 12:42 03:45
=& 14.2 21.6 58.9 982.8 982.8
s 06/05 06/18 06/06| 06/03] 06/03
04:46 15:21 19:39 17:43 17:43
| BE 268.5
H# 25 0 11
RFREE| b dbdbs | JdbER | FALE R’ WRER | MR | FEER E3] FIFIPY | FIPH | PAEIPG 75 Fadbdm | dbdE | dbdedE | AR
% 2.3 0.4 0.9 7.7 3.0 1.9 4.7 14.8 14.6 3.6 1.4 1.5 2.4 7.5 8.5 6.5 18.3




